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RAN WG1 would like to thank RAN WG3 for their LS R3-01-1355. It is mentioned in the LS that two interpretations was proposed in RAN WG3 on the need to signal over NBAP the case where S-Field value is zero. Some companies believe that this situation happens only in error cases, and so there should be no need for NBAP to signal S-Field value = 0, whereas other companies believe that it is a normal case and needs to signal it.

Question: RAN WG3 would like to have guidance from RAN WG1 on the need to signal S-Field value zero in certain cases. Since this correction would be on R99, RAN WG3 would appreciate a quick answer in order that could be included in the 3GPP December 2001 version.

RANWG1 thinks the S-field value = 0 shall not be signalled over NBAP since deactivating the SSDT with the IE “SSDT Indication” will be sufficient to allow the UE to fill the left side of FBI field (corresponding to S-field) with the appropriate coding based on the specification defined in the TS 25.211. In fact, when the IE “SSDT Indication” is set to “SSDT not Active in the UE” it is implicit that the S-field is equal to 0 so that there is no need to signal it over the NBAP protocol.

